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dtiEE 305 289 1,909
BEHRE 122 120 1,471
EFR 86 186 1,273
=R 114 108 599
MHEE 86 118 1,513
L R 41 85 919
BER 195 218 1,690
B3 296 209 1,245
N 104 126 1,660
HER 166 160 1,657
BER 179 224 772
FER 262 351 1,025
BRI 198 278 629
HE)IE 339 322 1,232
Hiag 96 192 1,883
ELE 60 65 1,549
GIE 66 56 1,293
fBHE 12 54 824
HEIR 111 67 1,004
RHE 286 224 1,600
Ik BB 12 128 87 2,541
B5[E 2 280 195 2,088
ZHE 324 236 2,137
=58 107 146 1,304
HER 85 44 1,682
REBAT 73 118 854
K BR AT 214 176 1,362
EER 259 208 2,111
Z=RE 65 91 1,155
FMILE 61 87 873
BHE 39 73 729
ERE 51 81 1,300
fiE] LU 2 146 17 2,345
INCT 281 188 2,083
I myl=y 69 163 1,777
EER 75 43 994
EIE 41 50 594
ZRE 64 72 1,317
SR 32 32 1,257
a2 530 285 2,925
EEER 54 54 1,292
RIGE 107 94 1,527
REARIR 106 78 1,765
N 155 100 1,181
=R 132 54 1,088
ERBER 85 100 1,070
Pk 65 0 362
A&t 6,752 6,424 65,460




